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Entries  780213

Mean x   6.447±  427.8 

Mean y  0.06211± -14.21 

RMS x   4.559±    411 

RMS y  0.04392±   3.96 

Integral     4064
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Entries  780213

Mean x   6.468±  400.6 

Mean y  0.06612± -14.58 

RMS x   4.574±  400.6 

RMS y  0.04676±  4.095 

Integral     3836
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Entries  780213

Mean x   6.517±  424.7 

Mean y  0.06103± -14.56 

RMS x   4.608±  404.8 

RMS y  0.04316±  3.791 

Integral     3858
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Entries  780213

Mean x    6.52±  422.7 

Mean y  0.06097± -14.55 

RMS x    4.61±  405.4 

RMS y  0.04312±  3.791 

Integral     3866
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Entries  780213

Mean x    6.52±  422.7 

Mean y  0.06097± -14.55 
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Integral     3866
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Entries  552593

Mean x  0.002563± -0.02658 

Mean y  0.08042± -13.99 

RMS x  0.001812± 0.1313 

RMS y  0.05686±  4.121 

Integral     2626
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Entries  552593

Mean x  0.002639± -0.02588 

Mean y  0.08547± -14.59 

RMS x  0.001866±  0.131 

RMS y  0.06043±  4.243 

Integral     2464
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Mean x  0.002648± -0.02836 

Mean y  0.07968± -14.45 

RMS x  0.001872± 0.1319 

RMS y  0.05634±  3.969 

Integral     2481
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